
Mode Downstream Long
Yield Efficiency (×10−4) Yield Efficiency (×10−4)

Λ0
b→ K0

Spπ
− 106.1± 21.5± 3.7 5.40± 0.12 90.9± 14.6± 1.0 2.26± 0.06

Λ0
b→ K0

SpK
− 11.5± 10.7± 1.2 5.34± 0.11 19.6± 8.5± 0.8 2.87± 0.07

Ξ0
b→ K0

Spπ
− 5.3± 15.7± 0.7 5.35± 0.10 6.4± 8.5± 0.5 2.67± 0.07

Ξ0
b→ K0

SpK
− 10.5± 8.8± 0.5 6.12± 0.10 6.3± 5.6± 0.4 2.91± 0.07

Λ0
b→ Λ+

c (→ pK0
S )π− 1391.6± 39.6± 24.8 4.85± 0.09 536.8± 24.6± 3.5 1.71± 0.05

Λ0
b→ Λ+

c (→ pK0
S )K− 70.0± 10.3± 3.3 4.69± 0.07 37.4± 7.1± 2.7 1.66± 0.03

Λ0
b→ D−

s p 6.3± 5.1± 0.6 2.69± 0.05 6.5± 3.7± 0.2 0.89± 0.03
B0→ K0

Sπ
+π− (K0

Sph) 913.5± 45.0± 12.2 5.57± 0.09 495.7± 31.8± 7.5 2.86± 0.06
B0→ K0

Sπ
+π− (Λ+

c h) 1163.8± 60.7± 18.8 7.38± 0.11 589.0± 33.3± 17.3 3.27± 0.06
B0→ K0

Sπ
+π− (D−

s p) 1317.8± 77.1± 25.7 7.76± 0.11 614.1± 38.3± 14.8 3.47± 0.07


